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PART — A : General Knowledge

1. Who painted the Madonna’s picture ?

(A) Michelangelo

(B) Raphael

(C) Leonardo da Vinci

(D) Petrarch

w(?:_ns&r$ GG udensd B 1gweur wmi ?
(A) mw@&ﬁb ere5FCevrm

(B) % Gigy

©) sﬂu@rﬁ@:_rr L a6

(D) Qui_gnis EE

B

. Find out the wrong pair.

(A) Pulicat Lake — Andhra Pradesh and Tamil Nadu

(B) Vembanad Lake — Kerala

(C) Chilka Lake — Odisha

(D) Sambhar Lake — Madhya Pradesh
SUDTET Q)eHERTENILI HGTTL_1)S.

(A) yesn efl— op& oL 199Cs&ib opmiLd SLOLPBTE
(B) Gaubusn® el — Gsgarm

(C) Qevar afl — gLyapm

(D) gmbumi el — wgFuws 19gGsLD

. Urea is produced in the part of our body.
(A) Nephron
i [
(B) Kidney %%g
(C) Spleen ’
(D) Liver

BLb 2L aSleb whlwm 2 @heum@Lbli_Lb
(A) Puubrs BTG LD

(B) fmibosid

(C) woewrentyey

(D) saveSged
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4. Match the following.

I) Rig a) Charms and magical spells

1) Yajur b) Oldest

III) Sama c¢) Rituals and hymns
IV) Atharva d) Musical notes

I I IO Iv

(A)a b ¢ d
@B).d, ne. ., b EEE
@b ¢ d a E%:!
M)c b a d
O CEETES

I) Mé a) Lomu BT @TevEISeT

Il) weror b) wpeLwTETS)
1) &mo C) FL_MIGSET, LITL_GU&GT
IV) 9sieu d) @enslim _cvser

I I IO v
(A)a b ¢ d
B)d ¢ b a
)b ¢ d a
D ec.b  a id
5. Statement I : The Constitution of India recognises twenty-two languages as official
languages.
Statement II : The Government of India has declared “Tamil” as the first Classical
Language.

(A) I only correct (B) II only correct o E:’;
(C) Tand II correct (D) I and IT wrong et

aurd@uib 1 : @QBBw yrfweveliysF F' L GGt Lig 22 Glomflser y@iais
Cuomflsenns 2ym&sMEs L (HeTerg).

umsSunb I1: @QpHw Iyrere (pged Olebeinmfuns “silp Clompl”

WSS L G).

(A) I ol @b &M (B) II o @b &ifl

(©) 1 opmyed 11 &l (D) I wopmyd 11 seumy
6. The International Court of Justice was set up in

(A) Finland (B) The Hague

(C) Poland (D) Geneva

LiGte () BELoGIDLD SwLDGSLILIL L @)L LD

(A) dewmpg (B) & Gans

(C) Gunevia) (D) Qggeflaum
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7. Statement I : InIndia the first census was carried out in the year 1872.

10.

11.

Statement II : The age composition of population refers to the number of people in different
age groups in a country.

(A) I only correct (B) 1II only correct

(C) I and II correct (D) I and II wrong

aunsGuib 1 : @)EBlwnedler ipge Lodaar Cgneams sawsCls®LiLy 1872 oy b oy
GLop Glameirer i L_gj.

ursGuwib Il : euugdswemal GI6LIG @@ BIL196T Wwaéser CFrensuled 2 6rer
ueGaum aug Lfalert eramesidamsamu GBS DS.

(A) I @b &M (B) Il ol @b &
(C) I wpmyb 1T &M (D) 1 wopmuib 1T seumy
. Which two planets only have backward rotation (East to West) ? = E:ll
(A) Venus and Earth (B) Mercury and Jupiter Ol
(C) Mars and Jupiter (D) Venus and Uranus
e1b6% @b Camenser ol R LTINS Fipewddng g ? (FpsHedwmhs-Gons)
(A) Geusiref pmid L@ (B) yger wpmitb aflwmpest
(C) Gecireumit opmyth aNwmpesr (D) Gleueiref) opmitd wjBrestev

. Which of the following isotope is used for determining the age of fossil wood or animal ?

(A) Carbon—12 (B) Carbon—14  (C) Sodium—24 (D) Cobalt—60

Gpssa 61 @CsnGL T Leng LIgal WJmser Seveg allevn@salsr awms
Smonafl$s LweTURS DS

(A) smiuer—12 (B) smiuer — 14 (C) Ggmguwib —24 (D) Gsmumevr” — 60

region is the famous for the match box industry.
(A) Ranipet (B) Vellore (C) Sivakasi (D) Erode
Bl 1y 2 puSH Csmplpamenevuileh LsLHOILIHLY aNeTsIEes) LGSImGLb.
(A) gressfiGLi’ent_(B) Geugyrir (©C) Pousn® (D) FGon®

Statement I : Babur defeated Ibrahim Lodi in the famous Battle of Panipat and occupied
Delhi and Agra.

Statement Il : Mughal dynasty came to be established in India with Delhi as its capital.

(A) I only correct (B) 1I only correct E5E
(C) I and II correct (D) I and IT wrong %@

umsGlud I @ wpgeomb unesfliiu Gumiled Lmui @rigm@ib Gevmy ews ComsLy S5
Ol _cvallenwiuib Y SITEmeuL LD SLILIDBIGTTI.

aursGuw I1: wpsewrw aibss@er o' & G selewws smewnsInss Glsrem(p
SIUEISNLIS].

INBER O (B) 1l " @b &

(©) I opmyed 11 &l (D) I wpmyd 11 seumy




12.

13.

14.

15.

16.
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Match the following.
i) Steve Jobs a) Tesla
ii) Mark Zuckerberg ~ b) Apple
iii) Bill Gates ¢) Microsoft
iv) Elon Musk d) Facebook
(A) b.d,c.a (B) b,d,a,c (C) c,a,b,d (D) a,b,c,d
Hsreimeiataipenp OlLITbSgi%.
i) evies gomiev a) GlLeveur = E:g
i) Lomis grossi Qs b) oyner i
i) 1960GsL " ev c) s CumamLi
V) ereveir Loavds d) @psmev
(A) b.d,c.a (B) b,d,a,c (C) c,a,b,d (D) a,b,c,d
Water Intoxication results due to intake of water.
(A) Normal (B) Excess (C) Less (D) Very less
BiAG Blenew ereiLIg) o6 Seog 2 L Cl&m6Tasm@Lb.
(A) Quévurer (B) o495 ©) eopi3s D) Bs Gopis
Which country won the SDAT WSF Squash World Cup Championship held at Chennai ?
(A) India (B) Japan (C) China (D) Egypt

Osarenamuied penr_Glupm SDAT WSF (Squash World Cup Championship) evg eumrey
2 ws Gemieu smbllwerefllienL aps B16 GleeTs)

(A) @B&Hwmr (B) gliumsir (C) &ewrm D) e®ig @ E:['
Find the odd one out. i
(A) Right to Equality (B) Right against Exploitation

(C) Right to Property (D) Cultural and Educational Rights
oAUl L @eiTenD SHevr(hLiLg.

(A) Fwssieu 2 Menio (B) @gewm_aé@ sT@onet 2 Manio

(C) Qenggyiento (D) swadl opmitb HerdsFmy o Memio

One among the following is an extinct species

(A) Cheetah (B) Arctic Tern

(C) Malabar Hornbill (D) Dodo
GipsanenTLeTalpSley el eppsl Grimer o uflfesiom@Lb
(A) Ppusews (B) @yigs Gl_rieir
(C) wevumi apmrieTiied (D) GG




17.

18.

19.

i A

Match the following different colour number plates.
I) Red Number Plate a) is for commercial vehicle
IT) Blue Number Plate b) means that the car belongs to a common citizen
IIT) White Number Plate  c¢) is given to a vehicle that be used by foreign delegates/
Ambassadors
IV) Yellow Number Plate  d) is used in the vehicle for the President of India and Governor
of States
I I o v
(A) a b Cc d E#E
B)yd ¢ b a e
C)d a b ¢
Mb ¢ d a

Qunmsgis. LGauy euatent (Qevdssss H)%6.
) Qauliy cuctrewid s50 &) eueRlGTGUITET 6UTHETEISE5S5 TGS ME LD
) Fov euctirewid %6 b) @& FngnIewT LY 0EEISE CIFTHSLOTET QIMTESETLD
GTGHTLIS TG LD
1) Qeusrenar euaents 5@ C) BT (B LITHBGH6T/SNS1H6T LIWGTLI(HSS/LD
QUTEHGTBIS @S G DeNSsLILIGILD
IV) wesger cuaienis 56 d) GUWIHS Soall LPmILD OB 2, @556
QUTSHGIBIGENG LILIGTLBSSLILI(BILD

I O I
(A) & 'b. & d
B)yd ¢ b a
(©d a b e
(D) ‘b © d e

Teacher’s day is celebrated on September 5" every year because

(A) It is the birthday of Dr. S. Radhakrishnan

(B) Itis the birthday of Gurudev Rabindranath Tagore

(C) Itis the birthday of Tr. Subramanya Bharathi

(D) It is the birthday of Dr. Bheemarao Ambedkar

@IQleun s L ptb FMwi erd Qe _tbui agtb 5 gtb CsB) Olsmedr_m_L
LIS DSTEST HITTEWTLD

(A) LrmsLi. S. @unsn&)meyewres yeuiseler LIpps Sevb

(B) 8- 6®Cse QuisHIETS HromMer LIpHs S 5’%@
(©) Bw. &ligwenflu urg@wni yeuiseler LIDBES Sevid Bl
(D) Lasi_i. fwngrer 2bCugsi euisafer LIphs Hed

The linear momentum of a particle is the product of and

(A) Mass, acceleration (B) Mass, velocity

(C) Mass, displacement (D) Mass, volume

gser @ailesr CrisGsrl () 2 hslb TG 2dGIs a6t LoMmILD
OLIIBSSD LIGVGHT )G Lb.

(A) Bleop, LpBISsLD (B) Blenp, HeavgGausLd

(C) Beop, QL LICLIwTEs (D) Bleow, LI@HLOGT
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20. Statement I : The arrested person details are available on Tamil Nadu Police Website

21.

22,

23.

24.

https://www.tnpolice.gov.in

Statement Il : A person can apply online for Police verification through Tamil Nadu
Police Website.

(A) T only correct (B) 1I only correct (= E:I[

(C) I and II correct (D) I and II wrong (=i

aumsSuub 1 : esg el L puiseller alugEiser SUOIPHTIEH SHTeIDSHI®MD
Q) emeannugGarsSHe) Gl &@Lb.

auns@unb IL: @@ pui SOPHTE STaIGImD @)TIISTSFIC) ) 6Ten6VEHT
FRumICILd@ adlevwrenti1EseMLD.

(A) 1 @b &l (B) I o @b &ih

(C) 1 opmyid 11 &1l (D) 1 wpmusd I saimi

In which book Aryabatta explained the true causes of Solar and Lunar eclipses ?

(A) Chandravyakaranam (B) Gargi Samhita

(C) Brihat Samhita (D) Surya Siddhanta

MW" L_T $6515] BevTesT @& G, FHLST &)TS oIS EhSHTET 2_GHTEHLOS

STTCHTRIGEN T 6T &)L T,

(A) #6897 aSwrsgewnTid (B) &mi&) swamlsr

(©) Ywss sbadlsm D) &l fggnpsn

Who designed the Indian Currency Symbol of Rupee ?

(A) Amartya Sen (B) Urjit Patel

(C) Udaya Kumar (D) Raghuram Rajan

@BSw emmis Gum 196 GBI L aIlg eI SSeIT Wi ?

(A) worigGwm ClFar (B) 2igdls LGLe

(C) 25w @Lom (D) p@omb rmggedr p
1

Steel is an alloy of R

(A) Iron and Carbon (B) Iron and Zinc

(C) Iron and Tin (D) Aluminium and Carbon

6To0& 2-Covnsdseenal 6T6TLIG

(A) @@tbL wppitb Gmiie (B) @aibL) oppith gflis

(©) @wtby wppitb .6
is the first Municipality in Tamil Nadu.

(D) <auhlesfluid opmith SriLies

(A) Tiruppur (B) Walajahpet

(C) Avadi (D) Hosur

SNPBIL 196D (LpSET(LpFEdle) 2 (FUTSSLILIL L [SITL_ &) <9),&Lb.
(A) B@Lim (B) sumevmgnGui’emni_

©) <oy (D) @@t
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25

26.

27

28.

29.

30.

. Noor Complex is the world largest concentrated solar power plant located in the
desert.
(A) Gobi desert (B) Sahara desert
(C) Thar desert (D) Kalahari desert

2 ew&letr LALLM yaTaleh Sy iGSwTesT @Ml DDV BEHEIITCS BT HTLDOTSHEV
LITGHGVRIGHSBIG) Y eOLDBSI TS
(A) Gsmd unewevauestLd (B) #ammgm Limeneveuestib

(C) s ureweveuesTLD (D) sevsmil LrenevaUsTLD
‘Sylvester da Cunha’ recently in news was known for
(A) Oldest person from India to climb Mount Everest EEE

(B) Creating the Amul girl mascot for Amul Company e

(C) Association with ISRO’s Chandrayan — 2 Mission

(D) Bringing Technological revolution in South India

FBLSGHw QFiiIBsaflev @) b QUDOBES * PVCeUGVL T LT GTADT GTGTLIGIT GTSD G
Quuwiir Cupmeuri 2

(A) erauGlavl QagsHe aplw Bs euugnest @bSw BLIT

B) <iwped BlmyeuesisSler emL_witer Aestaionest FmiLblenw o (H6eundElweurt

(C) @evGonalesr a5 guwiner — 2ihauet S ggL_er CFML_iLjenL_weurt

(D) Glgerep@wmaley Csmflpr Havw ClErewr® eubseur

Energy produced in the Sun is due to

(A) Chemical reaction (B) Nuclear fusion

(C) Nuclear fission (D) Electromagnetic induction
GMwefled 2 (Heun@Ld YDDEISE HTIGHTLD

(A) GeuBallenesr (B) <iemisam @)amenray

(©) ciguss@m Karay (D) Wersnpsg grevr e

The High Courts in India were first started at EEE
(A) Calcutta, Bombay, Madras (B) Delhi, Calcutta, Punjab = 1
(C) Hyderabad, Calcutta, Madras (D) Calcutta, Madras, Delhi ;

@BFwralled (1ps6ed (LSedled o wiBF oD EIG6T CSM_BmSLILL L @)L BIs6T
(A) Gamevsgsm, wpbevu, OFarenar (B) Gievel, Clsnebassm, LIGHFTL
(C) @somung, Canewsgsm, Gasienat (D) Gardsdsr, CFsenar, 6lL_eval

Kalakkad Mundanthurai Tiger reserve is located in

(A) Pothigai hills (B) Anaimalai

(C) Palani hills (D) Cardamom hills

STSSM(H) — (LPGRTL_B&IGnD LGOS &TLILISGLD 6V GMLDIS/GTETS).
(A) CurBens a6 (B) g emaroeamev

(C) weflwenew (D) erevdsmil oenev

Complete the analogy.
Anaemia : Drumstick leaves : : Malnutrition :

(A) Pizza (B) Cake (C) Cookies (D) Balanced Diet
RLUILIGOLD F(5S.

@55 Conens : (Lp(HEIDSSESnT : : 2601’ | FFSHGTENLD

(A) i B) Gas (©C) Gs&8av (D) g#llal@s o ewiay
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PART —B : Psychology and Fire Related Subjects

31. Choose the correct reported form of the following sentence.
m Jaya said, “I am working in a school”.
(A) Jaya said that she was working in a school
(B) Jaya told that she is working in a school
(C) Jaya said that she works in a school

(D) Jaya told she worked in a school

32. Match the following synonyms. g :Et}
I) Address a) Correct
IT) Band b) An implement used to hit a ball
I1I) Bat ¢) A musical group
IV) Right d) Location
I I o mw
A)a b ¢ d
B)d b ¢ a
@ d ¢ b a
M b ¢ a d
33. Fill in the blank with the suitable connector.
It is rainy. Take an umbrella __ you will get drenched.
(A) and (B) orelse —
(C) still (D) but Eﬁ&’

34. Statement I : Indelible means — cannot be rubbed out.
Statement II : Indelible means — can be removed.
(A) T only correct
(B) II only correct
(C) Iand IT correct
(D) I and IT wrong




35.

36.

37

38.

39.

40.

Fill in the blank with the most appropriate idiom.

Traffic is moving

(A) in your court

(B) in seventh heaven
(C) ata snail’s pace

(D) on cloud nine

Fill in the blank with the suitable preposition. = E}
She embarked the ship for Sri Lanka. i
(A) on (B) in (C) with (D) to

Fill in the blank.

A book written by the author about his own life is called
(A) Biography (B) Autobiography
(C) Fiction (D) Short story

Complete the sentence using appropriate modal verb.

If I were a child, I climb trees easily but now I can’t.
(A) will (B) shall
(C) can (D) could
Choose the synonym of the underlined word.
B
The Captain of the team is sturdy. =3
(A) weak (B) strong
(C) tall (D) good

Choose the correct question tag.

We won’t be late, ?

(A) will we (B) willn’t we
(C) won’t we (D) shall we




41.

42,

43.

44.

45.

==

Bewgss ClsemmemyibL_m 9 LiLgTeT augml Hleopujib — CLids: aipd@ GlFTeveney
GI(LPSGI QULPSSNS LDTH NI

(A) Blovgens OsermesyibL_m Ui srer euulyy BepuyLb

(B) plewsss Glasern Ceuaa®id o 1GLING FreT au@Gm FlevmuyLb

(C) plevgens 2 oy Ceuiu Couas@id 9L1GLITLS Sner euulp Blevmuyib

(D) Blevgemss Hemm Geuetor(®id L1GlLmLpg e euuilmy Blevpuid

Qurwssis. i

) samev a) SL_EEn6 = :3

) gear b) Libmy
I emev c) s
IV) gamar d) wpseiremio

I I IT1 IV

(A) b d a &
B) d a b c
() e d b
D) d c a b
‘eoupselli’ — ereigyib GFmevenevlt LINSG e1(pss GeoL LiLig)
(A) edus + saflit (B) ugeni + galli
(C) e + saflir (D) u& + el

aursSuwb I : oriGasppseansg Cleupmarwns (plyd@Glb L 6 Lb&EEHSGS
‘FsamavsGamer’ Iafldgid AL,

aunsSub Il : oG Mens 6T6iTLIgG aIedens aumrsSuiLb. ESE

1
(A) 1isi* b & ®) 1l " @b oA i
(©) 1 woppued 11 oA ) 1 wpgnd I saugy

Genevsrinwuib spusHE wpesrert, LVIDS Clup Geussmgw mrev CrLABTSLD
— @euailen_&Cspm allarn enLos s (H)s.

(A) wpser wpsadled LD Clup Ceustsigwr HIGH 618 2

(B) Qsnevasriiluib sHLSHEG wperarnt LLDFOLp Ceusmguw mred 615 2
(C) Qemevasm iy spp Wetert LD Oup Geuedriow FHIe 615 ?

(D) Qsmevsrinwid spLSHEGL LD Qevdsent Frev LUIDF yeuPuwiom 2




EE% J2i A

46. ‘eriod’ eradremyih OlFmevESledr O)Lim@eT
(A) ungsmiiny

(B) aFgib

EIHE
(©) Syt i
(D) sy

47. Blspsrevdams o eriggib OlFTe e1g 2 ‘l
(A) gystuciue. CrA@&na) ‘
(B) gussruii. Gpil@id .
(©) guedruci. Gril g
(D) syehruciu Grrafevenev

48. ‘To us all towns are one, all men are our kin’ @)tbQomAO LiwiliLd@Ghw SLlp @)evs&w
aflenwsd Csiis.
(A) ‘erevGevnpLd pLb 2arenpd Caipgeut
(B) ‘wngb 2arGy ; wreu@sb CHafli
(C) ‘erevCovmpLd BLD 2 pailewri’ EEE

;
(D) *8aiib pengud 9pii g7 g’

49. QpissTvSmS 2 wiggIb C\BML_IT 615l ?

(A) wungsrliurr

(B) ungisnggesrit
(C) ungisns:Fetpestt

(D) ungisnésaleveney

50. ‘womienn’ — eraiigyLb GlFmevedlenr 1B TFClFTG) 61g) ?
(A) <ybewio
(B) @bawin
(C) Qewienio
(D) sewrenio
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Study the following table and answer the following 3 questions (51 — 53).

&0 Csr@®SsLILL Bérer L L suamentenws LIS SipseL 3 Cadralse@sse (51 — 53)

aflen _waeflésa Lb.
Annual Income of 5 Schools
Sources of Income and Schools
eugeiledt eLpevLb LoMMILD LIGTGINS6IT
A B C D E
Tuition Fee
N YT — 120 60 210 90 120
Term Fee
A : 24 12 45 24 30
STV HL_L_GWTLD
Donations
e nya— 54 21 60 51 60
Grants 60 54 120 4 55
LomesiiiiLh
Phe, 12 3 15 3 15
Q@57 QFeway
Total
i 270 150 450 210 280
OlLongsLb
51. The income by way of donation to school E is what percentage of the miscellaneous ?

52.

53.

(A) 25 (B) 40 (€) 4 (D) 400
perolsmenL_ apewions uerell E allb@ eu@h sna sLiuerefluliesr @)sr Glaewailss
c1$Benast all(LpSSTHHET Y@L ? .

g

(A) 25 (B) 40

In case of how many schools is the income by way of tuition fee less than four times of the term
fee ?

(A) One (B) Two (C) Three (D) Four

eTdganaT LiaTallgaled, spLIGS60 &1 auTe, BI6E DL MBIG ST HL L ewnibensd alll
GODEUTSH 2 GG ?

(C) 4 (D) 400

(A) esitmy (B) @uean® (C) epsirmy (D) preing
Which school earns lowest term fee as compared to its total income ? S
(A) A () B © C (D) D -

61 uerell, st Cnds aGLIamSms RUILIP®SHUND GHODHSLILF &6V
S L_ewigeng ClunSna 2
A) A (B) B

(D) D

©) C




54.

35,

56.

ik
Probability lies between

(A) —1 and +1 (B) Oand 1

(C) 0andn (D) 0and e

B&1ps56) HLINeET B)enL_Glasad

(A) -1 wpmib+1 (B) 0 wpmyib 1

(C) 0 oppibn © Oupguse  BHE

If day before yesterday was Friday, what will be the third day after the day after tomorrow ?

(A) Thursday (B) Friday

(C) Saturday (D) Sunday

Crpevpw prefles ppengw prer OlaseralléFpenio, GTTDI, BHIEOGTW LODIBIGTGT

CLPGSID TGS [BITGT GGG ?
(A) adwumpsGipenio (B) Gludirefls&lpenLo
(C) safla&lpenio (D) Emidpmis&ipenio

Find the missing term.

4 3
5 77 |9 9 2|6
8 7 [=]350E]
|
(A) 77 (B) 79 E;gg
() 73 (D) 75
Bpssar euflengpempuiey aNGUL L eTawsamers Ggiiey GlediwuaLb.
4 3
5 77 9 9 ? 6
8 7
(A) 77 B) 79

€ 73 (D) 75




57. The following graph represents the types of crimes and their percentages. Indicate for which

58.

=]5=

particular crime, the percentage increases.

Crime in a City
80 7 74
65
zg ’ 63 5% 1999
3 [] 2000
10 40
40 36 35
30 26
20
10
0
Kidnap Murder  Assault Rape Dowry
death
(A) Kidnap (B) Murder IEIEIE:II
(C) Assault (D) Dowry death -

L9eiTeuHLD euEnILILIL LD oV UENSWITES (GDDEISEHLD &6 §5alsSasu b GDILILIBILD.
6168 GO L GoDSHer 55058 BN DS FLOTS 2 GTOTS] GTGTLIGHSS

@Dl _ayLb.
A PO BHISB GDDLD

80+ 1o 74

07 85 63 50 1999

60 + 54 ] 2000

il 40

40 =+ 36 35

30 26

20 +

10 +

0 . :

HLGHED Qsnenew  STEGSH  SHLILAILY 3!;?‘;;;2;!“

(A) sL_gs0 (B) Qsmrenev EEE

©) srd@s® (D) awgsL seoenr wpeshiaser S

A man moves 4 km towards East. Then moves 3 km towards North. How far he is from the
starting point ?

(A) 8 km (B) 7km (C) 5km (D) 6 km

@@ waflzer Hipde HasCrrss) 4 &..6. Qeav@prer. LpG aLdE HaeGrrss
3 &.18. GleawGprer. gbweallger Csrds BawulalGis assmaear &..8.
Olgrenevailed @) Bé&Smner ety senBLySg slwmes el Sps.

(A) 8 GliB. (B) 7 @LB (C) 5 ®.18. (D) 6 &..15.

A
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59. An ant climbs 30 cm at the beginning of each hour and rests for a while. He slips back
20 cm before he starts climbing again in the beginning of the next hour. If he begins his ascent
at 10.00 am, at what time will he first touch a flag at 120 cm from the ground ?

(A) 6 pm (B) 5pm (C) 8 pm (D) 9 pm

@@ emibL) @eaans well Crig@er Csmn sss8aud 30 cm 2w ¢ s
G @uIQ@SBDS. ABGSS 9@ wenfl CrysBlar Clpn &858 Bav@Lb gpd
Qsm_mi@b et 20 cm LIeCasHé Qara@pgi. 2eiClaupbL] sTavey 10.00 LoawildE
aps Qsm_mfemed, aps CrisHe sampuiles @mig 120 cm 2 wishled 2 erer
Qamyemwsg GClsT@RILD.
(A) wree 6 (B) wmenev 5 (C) wrenev 8 (D) wrenew 9

60. Study the diagram given below to answer the question. The triangle in the figure depicts women

in villages, the square depicts the unemployed women and the circle depicts the educated women.
Educated unemployed women in villages are represented by

EHE
ey
D
B
(A) A (B) B (C) D (D) E

BLpse_ auevy LIl mser Salallss Gl 2 sirer Gaearalldg LG IafldsaLd.
wp&Gsmentd Gmn Quensmer GHSSDSI. 817D Casemevuiebevr Cluersemer
GB$ADg) wHID L b L Ss Quasmer GHSSDS, g HrmosFe L ss
Gauswavuiever GLiTsamenr GpH&ESDSG 2

B
(A) A (B) B (C) D (D) E [l

61. Some boys are sitting in a line. Mahendra is on 17" place from left and Surendra is on
18" place from right. There are 8 boys in between them. How many boys are there in the line ?

(A) 43 (B) 42 (C) 41 (D) 44

o aflostlsds fe wraralisdr 9 wisSKsSpriser wCsESIT eeTLIaIT
@i usssPSGHs 1T0ig QLsBaib wppid &CIEHIT eTaTLIT QIS
LGRSO Hhg 18eus QLB @QusHpmisdr. @bs @)@ wraraisaism Gur 8
LOTERTRITSET SJLDAGEGEPDTISET GTHDID GISSeaT LOTewRTal 56T Ijeialfensuiey
IILOABBHSBDTISET 66D LISV S(H- :

(A) 43 (B) 42 (C) 41 (D) 44
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62. Split 64 into three parts such that the numbers are in Geometric Progression.
(A) 1,4,16 B) 2,4,6 (C) 2,3,8 (D) 2,4.8

64 ereiip eraenewil OLIBSGS CFmit euflenFuiled emiobs eLpGHIMI GT6HTS 66
CLIBSSDLIGTTS GT(LHS-

(A) 1,4,16 (B) 2,4,6 ©) 2,3,8 (D) 2,4,8

63. Choose the number which is different from the other numbers. [E135[E]
(A) 81 (B) 36 (©) 54 (D) 61 o
o eTaseiad;phig Coaimiiil L ereenewtd Gaiinh0)ls()&saLb.
(A) 81 (B) 36 (C) 54 (D) 61

The following Pie Chart represents the number of valid votes obtained by 4 candidates.
The total number of valid votes polled was 720. Read carefully and answer the following three
questions (64 — 66).
esreumid evrs aflerdasii b 4 Geul Lmeriser CQuUpp OFGILILY WTEGLD eUTd@Hales
cTavTewllGamsmwd GOEFRDG. GClwrdsd UHairear ClFa LI LUTGLD 6T el
crevranfldens 720. seuarionsls Ly ss Csearald@ (64 —66) LB ewalldsa)ib.

I Candidate — 1

Gau e — |

IT Candidate —2

Gau Lmami— 2
IIT Candidate —3
Gaul umari — 3
IV Candidate — 4
G uimeri — 4

64. Who won the election ? How many votes did he get ?

(A) Candidate — 1, 240 (B) Candidate —2, 120
(C) Candidate — 3, 240 (D) Candidate —4, 120
Gsigedley Claupm Clupma W 2 et cTSSeamast aund@&ser Pt ?
(A) Geut”_umenri — 1, 240 (B) Geur umeri—2, 120
(C) Geaut_wmemi— 3, 240 (D) Geut”vimerir —4, 120
65. By what margin, the winner defeated the nearest contestant ? = E:',
(A) 20 Votes (B) 30 Votes Bl
(C) 40 Votes (D) 60 Votes
6165 aI$SwnssHe Claups Oupp Ceul’ Lmeri wHppeeny CsMHeISSTT 2
(A) 20 gL @ésar (B) 30 gL Pésar

(C) 40 @ @ss6r (D) 60 g" &6
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66. Who got the minimum number of votes ?

(A) Candidate — 1 (B) Candidate —2
(C) Candidate —3 (D) Candidate — 4
GODES UL F auré@Gsear Qupmeant wrr 2

(A) Geulwmemi— 1 (B) Gour”umari —2
(C) Gourwsmami —3 (D) Geur”timerii — 4

67. In a certain code, MOUNTAIN is written as OMNUATNI. How is READER written in
that code ?

(A) ERADRE (B) ERDARE (C) REDEAR (D) RAERDE
@ GO L Gplui 196t MOUNTAIN erairiig OMNUATNI eresr er(tpg Uit (Reirarg).
9B GDuil 1960, READER eriLig erupsLliui@ 2

(A) ERADRE (B) ERDARE (C) REDEAR (D) RAERDE
|

68. Find the correct answer. E¢E

Dawn : Dusk :: Inauguration : ? = ]

(A) Invitation (B) Valediction

(C) Repetition (D) Organisation

Fwrer LUBeews SerL_Bliwe b,

afliguich : 9yB% :: FwLiy aflpm: ?

(A) enprnisLp (B) fley o Ligsmy allpm

(C) heswr(®ib LOevor(p)Lb (D) jewioLiny

69. The value of a motor cycle 2 years ago was X 70,000. It depreciates at the rate of 4% p.a.
Find its present value.
(A) T 64,215 (B) ¥ 64,512 (C) ¥ 54,512 (D) X 54,215
QB 657 aunserd @epler alanew 2 B ERd@ Lper X 70,000.9,5 @) BESS.
Q56T 1G] @THCHMID 4% iS5 GoPEDS. ST SHCUTDSW LLBIIL

& TGS . |
(A) T 64,215 (B) T 64,512 (C) T 54,512 (D) T 54,215

70. Which term is wrong in the following series ? E¢E
196, 169, 144, 121, 100, 80, 64 it

(A) 169 (B) 121 (C) 80 (D) 64
&0 GClan®ssLil Rerer Clsm_Med 61hs 6Te SeUDTETS ?
196, 169, 144, 121, 100, 80, 64

(A) 169 (B) 121 (C) 80 (D) 64




=
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71. Find the value of x if ZAOB is right angle.

B
C

[5]
=]

=2 3% 1
A

0

(A) 16° (B) 15° (C) 20° (D) 18°
ZAOB eratrigy QamiGsmewith e16fled X 651 LLGLIGHLIG ST6HTS.

Ba‘
C

3%

O

(A) 16° (B) 15° (C) 20° (D) 18°

72. There are 46 children standing in a line. If Rohit is standing in 38" position from the right,

73.

74.

what is his position from the left ?

(A) 10 (B) 9 (C). 8> (D) 11™

@ aufleansFuiley Clorssib 46 Amiaiiser BHFDIiser. ojeuisele aeILIGSOmBS
38-9eug @56 Coranls BlDH e etesile, @)L L11G5L0\mES CrmansSer @)L b

GTGITGHT 2

(A) 106ugy (B) 9eugy (C) 8aeug (D) 1leugy EYE
30% apples out of 450 are rotten. How many apples are in good condition ? Gl
(A) 125 (B) 180 (C) 240 (D) 315

450 g 9eirsafled 30% 9ol Flevavuflev 2_eirerent. Bevev Blenevuieyieier %L}Lﬁ?d‘ra;aﬁsir
GIGHNTGRT1569 3 GIGSIGT 9

(A) 125 (B) 180 (C) 240 (D) 315

In a class of 35 students, Kunal is placed 7" from the bottom whereas Sonali is placed 9" from
the top. Ravi is placed exactly in between the two. What is Kunal’s position from Ravi ?

(A) 9 (B) 10® (c) n» (D) 13%®

35 wremreuisemar Ganeu au@Lillew, G 6 QhEs TpTaig @)L Sas
g gsi. 9Gs sFwwib, Csrenad, Gelhg @eisTag @)L sag LIigdsi.
gafl, @uewr® Cumee@b @eL_ulled Fluins eeudsLiLil R erarti. galul_tb @) BEs
&Sl [Fleney GTedIGT 2

(A) Iz aug (B) 106ug ©) llgyeg (D) 1305
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75. Statement I : The additive inverse of —32 is —32.
Statement IT : The value of (—10) x 2 is 20.

(A) I only correct (B) II only correct

(C) I and II correct (D) Iand II wrong
aung@und I : —32 &1 s’ L ov e1@iioemm —32.

aungSund I1: (—=10) X 2 &1 &1y 20. G
(A) 1 @b &M (B) 11 o @b &M El%
(©) I woopub 1T & (D) 1 opmyd IT eumy

The following graph depicts yearly milk collection of a milk processing unit (76 and 77).
LesTeupLd euengLiLi b g L6y LIRSS faler eumnpSr Lned GCasilienL
ST &g (76 ommyd 77).

90 +——

80 1

3
g'g 70
SS 60
g .E ) — — _
Eﬁ 40

=
35 30 - i S I
d — jG o =
g* 2
3 10

1981 1982 1983 1984 1985 1986
Year/aumtb

76. Which year recorded maximum percentage growth of milk intake ?

(A) 1981 (B) 1986 (C) 1983 (D) 1984
6Th% e Limed 2 L Clsmeranadleh FsLL s 55685 aeniéfaw LGe CFiGng 2
(A) 1981 (B) 1986 (C) 1983 (D) 1984

77. Which year recorded least percentage growth of milk intake ? B E:g
(A) 1981 (B) 1982 (C) 1983 (D) 1984 =
6B e Lmey 2 1" Glsmerenadley Genphs 5095 aenidfeow LSey ClFuiss 2
(A) 1981 (B) 1982 (C) 1983 (D) 1984

78. In each of the following letter series, some of the letters are missing, which are given that
order as one of the alternatives below it. Choose the correct alternative.
abca becaab aa caa C

(A) bbac (B) bbaa (C) acbb (D) acac

Car@ssLiLL Berer eipdgidbsaier aflaauleh Pev erpdgibser alll_LiL (HeTerTeyT.
QIPUL L eipdgisemar 9Gs aulansuiey LGewns CasrhdsLiul Hererer. Filumet
LSenew Hewer(h) LI19.5%He LD,

abca bcaab aa caa c

(A) bbac (B) bbaa (C) acbb (D) acac




79. Arrange the words into meaningful sequence.

80.

81.

82.

21-

1. Sending 2. Encoding 3. Receiving 4. Decoding

(A) 2,4,3,1 (B) 4,2,1,3 (©) 1,2,3,4 (D) 2,1,3,4
UMTiGengsenar IigsLperar aumeanguiled 2 {BSHa Lb. EEE
1. yepiiysey 2. goui_mésb 3. Qumsed 4. Gplallevdsid Beed
(A) 2,4,3,1 (B) 4,2,1,3 (C) 1,2,3.4 (D) 2.1,3.4

A man starts from his house and walked straight for 10 m towards North and turned left and
walked 25 m. He then turned right and walked 5 m and again turned right and walked 25 m.
Which direction is he facing now ?

(A) North (B) East (C) South (D) West

R Lellger et afl 196 Q)bss Crons ai_deans Crrs& 10 m pL_pgrer. LInG
Qe @)L & LSsD FHbLd 25 m pLpgner. LADE Djeue auevgiLpib H@HLbid 5 m
BL_BSN6T. Lo uLd euevgLimtb SHbtd 25 m pr_pgner. @QUICLING jeueT 6Thg
BavFenw Crrs@@H et 2

A) adg  (B) Byss © Gsps (D) Gupe
In a city R of the population are women and %are children. Find the fraction of the
population of men.
A 2 B 3, € 4 D -
A) 5 B) 30 ()% ()20

R BSISH® 2 6rer Qonds wéser Csmansuilsy — uBIEG LTS LPHDILD i
0 4
LIBIG GLpBaS&6T eTarlled, Glondg Lodser O)smensuileh gy eusailer LikIE (LeTesLb)

GTGSTGUT ——
L3 Al 7 28 [
(A) 0 (B) 20 © 2 (D) 20

Which of the following diagrams indicate the best relation among sports, football, lizard ?

) ©) @O ©
a b C d
(A) a (B) b ©) ¢ (D) d

Lereumb euengLIL_Bisefey 618 aflenemwimi’ (), STLBS, Leed) 9&GIDDISE
@ e Cuwnes Apps 2 pevaus GPSBDH 2

© & O ©

hs, )b ©c ®) d
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83. If X says that his mother is the only daughter of Y’s mother. How is X related to Y ?
(A) Son (B) Father (C) Brother (D) Uncle
Y difer smild@ eumenw i @CGp waer eresry X Glameiesmey, X &@ib Y &@Lb
e1Gs1GeT QIGML_fiL] 9
(A) Losesr (B) spews (C) #Csnggetr (D) womom

84. When we arrange the letters of word “VRAKIE’ in correct order, we get the name of a river.
Fifth letter from left in that name is

(A) R (B) E © 1 D) K
‘VRAKIE’ ereotp eumigewgemw mmb ghwmet (pempulled jsuelmigeansullayerer
TS GIGH®GT LOTDIY YLoSSTe0. BLod@ @ pPuleT OlLwi el &@GLb. Ibs

BEufer Quwfed, QL & LIS5SS S GHES @bSTuSTS @)L b ClUDPBHSSGLD T(LPSS]
GTGHTGHT GTGHTLIGNS HewTL_Mlbgl Fhlwmes alent_ SHs.

(A) R (B) E © I (D) K S
85. Simplify : 40 + [9 x 2 + {(6 X 3) — (15 + 5)}]. 2

(A) 7 (B) 113 (©) 73 (D) 89

Gh&5GS 40+ [9 X2+ {(6X3)—(15+35)}].

(A) 7 (B) 113 (©) 73 (D) 89

86. The train for Lucknow leaves every two and a half hours from New Delhi Railway Station.
An announcement was made at the station that the train for Lucknow had left 40 min. ago
and the next train will leave at 18.00 hrs. At what time was announcement made ?

(A) 15:30hours (B) 17: 10 hours (C) 15:50 hours (D) 16 : 10 hours
wsGammalpaner guiled Gl_cval gulled BlevewsHed @)BEG @ebleun s @)TewL_eng
wenfl CrISHDG BEpap UDUILGSDSG. wsGarresarar guiled 40 FlLblL_61%e54E
wasty yplrul el grsajb. IBSs rulled 18.00 wenflé@L Lpliu@ib
eraimd BlevewwdHer ypledliy GClevellull dul L g). o155 CrusHev ymlalliiy
Qevelu_Li g 2

(A) 15:30 wesnfl (B) 17 : 10 oewf] (C) 15:50 wewfl (D) 16 : 10 ot

87. Raghu and Babu are twins. Babu’s sister is Reema. Reema’s husband is Rajan. Raghu’s mother
is Lakshmi. Lakshmi’s husband is Rajesh. How is Rajesh related to Rajan ?

(A) Uncle (B) Son-in-law & E;',

(C) Father-in-law (D) Cousin s
@@L, Lmeyb @)u e wiiser. umLjedest FGsrgM fom, onelleT sewraurt Frgest,
7&eN6T LbLom euapLh), evabluilest Hewreur pnGggay. MGy JMEey)sSE, 61656 2 Da] ?
(A) wmom (B) wopLosmaeir

(C) wmetmi (D) epetrpy adli 1 #Csngmeir
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88. Match the following.

I) Area of a square a) [x b sq.units

IT) Area of a rectangle b) s* sq.units
III) Area of a triangle ¢) mr? sq.units
IV) Area of a circle d) 4 (b x h) sq.units

I o0 I v 2

A)b a d ¢

(B)yd b & 1€

@ d a ¢ b %
M)ec d b a Obe
s 515 :

) sg08@ e Ligliny a) Ixb s.ew@ser

II) Qeaieuss@ar ugliy  b) s’ F.a@Gser
IIT) (wp&GsmemigSesr L) C) T’ &6V Gser

IV) -ait.E e il T ) .
I 0 I Iv 2

(A)b a d ¢

B)d b a ¢

(C)d a ¢ b

M)ec d b a

89. Pick the odd one out.
Chemistry, Geography, Subject, Literature
(A) Chemistry (B) Geography = |§:|1
(C) Subject (D) Literature
sldg QBLILIDS TS TSI
CouBwed, Ljauwed, Lim_tb, @)ews&wib
(A) Gouguwed (B) yafufuwed
(C©) um_ib (D) @evs&Huib

90. Decimal form of 1i
20
(A) 1.25 (B) 1.15 (C) 0.115 (D) 11.5
li@m‘r SFLD GTGWT GULLAILD

20
(A) 1.25 B) 1.15 (©) 0.115 (D) 11.5




91. Even though 240 days Earned Leave is credited for a person, what is the maximum number
of Earned Leave he can avail at one time ?
(A) 180 days (B) 200 days (C) 120 days (D) 60 days
R@augg Fliguw NG @wLiiled 240 pmser @@i9eib, @Cr Cris5e 95%
UL o5 6TSFemadt B S6T F1g.1 e B LUILTS ey/Laldseub 2

(A) 180 pmi_seir  (B) 200 prseir (C) 120 i’ szer (D) 60 pm et

92. Match the following.

I) Lowering line a) 100 feet = Ef‘;
IT) Long line b) 130 feet Dt
IIT) Short line c) 20 feet
IV) Escape line d) 50 feet

I I oo Iv

(A)b a d ¢
(B) ¢ d a b
() a b c d
MDMd ¢ b a
Cunbssis :

) Gevmu emevesr a) 100 =g
1) e emevesr b) 130 =9
1) ewmi’ enevesr c) 20 9
IV) e1evCaL) emnevesr d) 50 9y

I I 1 1Iv

(A)b a d ¢
B)c d a b
(C) a b ¢ d
MD)yd ¢ b a

93. When a fire appliance is requisitioned for emergency water supply ?
(A) They can be loaned on payment basis
(B) They can be rented free of cost & E:‘[
(C) They can be sent with the permission of the Director B
(D) They are banned to supply
SYOUST SHTBIGTG) GBI QULPEISESHTH BiLienawTLiL] CALDSBANGEEIT EDILILIGUTLOT ?
(A) s L_ewr 9 Lien_ufled 9jey1LIGVTLD
(B) @aveusions gjemliLieumib
©C) Qusepier 9eiduL_cr jg9iILieurb
(D) geueumm aupnls senL alDSsL1LIL (HeTeng)
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94, Instructions regarding procedure to be followed if there is breakdown of fire fighting
appliances during a fire call is explained in which order of Tamil Nadu fire service

manual ?
(A) Order Number : 235 (B) Order Number : 236
(C) Order Number : 237 (D) Order Number : 238

8 auggl Hlapelnsailsy Qewunsmalser LpsamLbzme Guopolsrearer GCeoevmiy u
8$5BILIL (Wepser Qsmiiuns SOIPBTH SwWeaeRTLILISSID Bl (LoD HIeSe)
GTHS <2)EHGRT GTEUTENIIGY QUG TWINISSLIL (D6Teng ?

(A) gyewent erew: 235 (B) yewewr eran : 236 oM

(C) yemewr eremr: 237 (D) <yemewr erawr: 238 (=1

95. Which post qualifies for Long Service Pay based on their service ?
(A) Below the rank of District Officer
(B) Below the rank of Station Officer
(C) Above the rank of Station Officer
(D) Above the rank of District Officer
a1 usauied @ BLILeTSET LelldsTevsSeT Iyt uled bewr _srew Licw
ser@luib (Long Service Pay) Quimyeui 2
(A) wmeul’ i yeueuevii LSaNSE SLp 2 GTETaITSET
(B) flevovws jauaievii LISaNSE SLp 2 6TeT6TS6IT
(C) Blewevw ayeuei LgalldE GLoey 2 6TeneuTEeT
(D) wreul’ L yaeuevi LFGaNS5E GLoed 2 6iTaTe s 6T

96. Match the following.

I) General diary a) Form No. 25, Order No. 193(4)

IT) Passport b) Form No. 28, Order No. 195
III) Fire report c¢) Form No. 31, Order No. 202(6)
IV) Sentry relief book d) Form No. 37, Order No. 236

I I 1 Iv

A)e b d a
B)a b-e -d E E:l|
)b ¢ a d (=]
Mb ¢ d a
CumwS515.

) Qung pr &oHtiGuU® a) LgeuLb erevr. 25, gyement erewr. 193(4)
1) smed&l @ b) wigeub eressr. 28, yenewt eremr. 195
1) § aflugas Pldens ¢) wgeuh erevr. 31, gy ement erer. 202(6)

IV) smeued gpenp wmpms u Ceu@®  d) Ligend eres. 37, gyenewt erevr. 236
I I 1m Iv

A)e b d a

B)a b ¢ d

)b ¢ a d

By b - e udi ieg
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97. Which of the following days combined drill/special drill should be conducted as per the
weekly rota of duties mentioned in TNFS Manual Order No. 193 (1) ?
(A) Monday and Wednesday
(B) Wednesday and Thursday H5E
(C) Monday and Thursday %%
(D) Tuesday and Friday
SWPBTH Fwewewrliy Gewp Bl (pap Hw, ol erewr. 193 (1) eunewmw
B (pepuileiLiyg., Sl 61hg BTl saled Fnl GUUIDS/Epiiy LudnSser
BLSSLILIL Cauesr(hd 2
(A) Smiser wpmith LjgeT Hipento
(B) yseir wopmpid afwiripest Hlipenin
(C) Smiser wpmitb aNwmpest Hipenio
(D) Qesieumit wpmib Classiraf Hpenio

98. Who gives permission to accept special rewards offered to fire subordinates by private persons ?
(A) District Officer (B) Director
(C) Government (D) Joint/Deputy Director
&t plevels ueflunenbégs saflwmgme aupmsliu@h ufasamert OunasHS

DISVILDG) QULPEIGLIUT W ?

(A) wreul’ L gyeyeieir B) Qué@mi

(C) =s (D) @ enewr/gienent (3)u1d@ bt
99. What does Indian Standard (IS) : 950 specify ?

(A) Foam Tender (B) QRV Water Lorry

(C) Water Tender Type ‘B’ (D) Water Tender Type ‘A’ H Ezll

@BSw s Bliestwid IS : 950 GO Reug wrg 2 ad

(A) meoy $MEIS Ly (B) QRV geswrenti eum)

(C) ‘B’ cuews B 1mi&%) auensiy. (D) ‘A’ suenss it MG auetsTig
100. What is smothering method in extinguishing fire ? -

(A) Removal of oxygen (B) Removal of fuel

(C) Reduction of heat (D) Removal of carbon dioxide

Sewiplyssew (Lpepuied e TSHE) GTHLISG] GTeTaT 9

(A) saflmeer osHDIG6ED (B) erf@Qunmmenar 55@&s60

(C) Qauliugems Gamssev (D) smiues el Y demenigeneT B8Es6




=

101. How often a Station Officer should inspect water sources in a station if is below 20 ?

102.

103.

(A) Once in a three months (B) Once in a six months

(C) Once in a month (D) Once in a two months

20 crevwenilGeansdh@dh Ge@panaT Bibleanesamar Flaneil IaaIeVIT GT6IINTa/
STSBDHEG R (pevp Qlia) OlFun Coema@b ?

(A) apsiy 15580 @@ wop  (B) n wizsSHE @G o

(©) wrgi> @@ ¢pep (D) @uen® wissEHS PG P
Which method should be used to move a person who has suffered spinal injury ?

(A) Stop — Roll Technique (B) Log — Roll Technique EHE
(C) Log — Hold Technique (D) Lock —Knock Technique EI%El
PSIG Ser(hleul_Lb STWIPDD BLT BSISSHISDE 61hS (LLePenll LIWLGTL(hSS
Geuessr(HLd ?

(A) ev_mt — Gomev Q_defls (B) awns — Gunev Q_sefld

(C) awrg — Capmev’ 6Ol_selld (D) Gevns — prs Gl_sehs

Find out the wrong pair.

I) Crow Bar a) To break lock

IT) Large Axe b) To chop wooden log

IIT) Insulated Axe ¢) To cut electric wire
IV) Smoke Exhauster d) To detect the smoke

(A) Crow Bar— To break lock

(B) Large Axe — To chop wooden log
(C) Insulated Axe — To cut electric wire
(D) Smoke Exhauster — To detect the smoke 5 &l

1
[=]4®
SUDTET (Q)eWeRTENILI HGuTL B,

) sL_LiLmenp a) YLl iyemaer QoL 2 an_ggev
) Geu’ ®&Csm_nh b) wrlivewensuienels Lerds
IIT) @eraCal e 1" gy dhev c) Lhlar SLbLIFBemansd &)eury.ds
V) yews Gunss) d) yewsemw Hesr_mlse

(A) sLLiumenp — L 1genar GBLbLY 2 eL_SH6

(B) OQeul’ ®&Csmmfl — wrliuewesullenell L6rd5s

(©) @enmaCal LI gydbev — LAGT HLDLISEn6TS &I 55
(D) yeows CuTss — Ljanseani SeTL_pls 60
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105.

106.

107.
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Which year was Sniffer Dog Squad established in Tamil Nadu Fire and Rescue Services

Department ?
(A) 2015 (B) 2009 (C) 2019 (D) 2001
SOpHEIH Suenentiiy-18L 1) uellg giewpuied Gomii pmi Lifle) aPLGSSLILILL
2T G151 ?
A) 2015 B) 2009 C) 2019 D) 2001 g
(A) (B) ©) (D) ggg

What is the time frame to claim travelling allowance from the date a journey is completed ?
(A) 1 month (B) 6 months (C) 2 months (D) 3 months

vwestUiug QOup GBI L Lwentd (PSS Brafledl(BhEgl TSSO BTL % @hd% 6T
LwewTCILIg. U1y wed Fomilssiiu. Caien@b 2

(A) 1 g (B) 6 wongmigser (C) 2 wngmser (D) 3wnagmiser

In First Aid A— B — C denotes

(A) Airway — Breathing — Circulation ~ (B) Alert—Bold — Circle

(C) Away — Before — Care (D) Alert— Bother — Care
wsasaliles A—B - C egamear Gp58DS5I

(A) eiGeu — 19F5H B — &ié@Cavsssr (B) Qe — Guneb® — Fis&ler
(C) Cau — 9@t — Cait (D) Qi — Cunsi — Csii

How often should a Station Officer inspect factories within his jurisdiction ?
(A) At least 6 months once

(B) At least once a year = !E:Ii

(C) At least once in a two years B

(D) Not authorised to Inspection

BuwenewtiiL) Blevaow e sa1gl Blavevil eTevensGL Ll 1 Csmfidereasuseamar
GTRIRIGTS| BT S@56E @0 (Leap 2uiie) OlFiiw Coiar@®ib 2

(A) GoppsLLF1b 6 LIFEISESE RO LPOD

(B) gopps L Fb aIGLSFDG @G LPDD

(C) G@pbS LLFD 2 QIGLEISEEEES @G LPD

(D) wyuie) CFiiu EsriLbldbensy
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109.

110.

111.

112.

229

Which extinguisher should not be used in Confined Areas ?

(A) Water CO, Extinguisher (B) DCP Extinguisher

(C) Foam Extinguisher (D) CO, Extinguisher

eprgwr (Confined) @)L g5l6b LWETLIRSSS Fal TS SUEHEHTLILITGT QUend 61&%] ?
(B) 2_evit ey GuwiemewrLiLimest

o

(A) aumi_it CO, SwenawriiLimest

(C) miewy GuwienewtiiLimest (D) CO, BwenewriiLimest

Which format is given to prepare for Firecall reports ?

(A) Form No. 38 (B) Form No. 39

(C) Form No. 36 (D) Form No. 37

8 aludgl vPlseaser epsll LSS SunissliLGS DS ?

(A) wLngenb eressr. 38 (B) wigeuib eressr. 39

(C) ugeub eraus. 36 (D) Lngeuth erewer. 37

Which one of the following fire fighting system is usually installed outside of the building ?
(A) Pillar Hydrant (B) Sprinkler System

(C) Smoke Detectors (D) Fire Dampers

BLp&eHTL BUIGHERTLIL] FTSEIEIS 6T, 6Thg @em) ClLngleuns s L_1_g&ler CleualliLjpib
YMLOSHLILIL LY (5SHGHLD ?
(A) B gibi9seir (B) B Glsefliimet el

(©) yews ser_plujb s@pad (D) & sewlll s

Which year was T.N. Fire Service separated from the Tamil Nadu Police Department ?
(A) 1947 (B) 1950 (C) 1967 (D) 1976
SLOLPBID sMaueh Gleopuledbhs SuementliL|g gienp seaflwng LMssr L 6

eT&l ?
(A) 1947 (B) 1950 (C) 1967 (D) 1976
Who is Ex-officio President of the Fire Station Recreation Club ? EEE

1

(A) Officer incharge of the station (B) Senior most fireman =i

(C) Senior most leading fireman (D) Driver mechanic

Bleoaw aT&pLoen gl L $BH@ LSelef geealt wrr ?
(A) BlevevwgBer Qumpiiy Bsrh  (B) epds SuenewriGuim
(©) epss wesrewest! SwenewriGumi (D) @upSr sibibluit gi’ig




113.

114.

115.

116.
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In the Fire and Rescue Services Department “Bowline on the Bight” is used for
(A) Attaching a line to a hook

(B) Asling to lower an unconscious person
EI%E

(C) Joining two ends of a rope = 7]

(D) Used for self rescue

BuwenewrliLj-18L 1) uesflser glempuiled “GLimenevest 26T & LIl 6TelD (Lplg-Far
IBMHE& LWTLIRSSLILIRSDSG ?

(A) Qsré@uL_cir suleop @)eneiss LILGTLREDS

(B) swhlaeraippeuens &G @Qmnés LiweTLBHS DS

(C) @uenr(® (pewarsener @)ementasl LILGTLIGS DS

(D) sehrenanssnGar sliLmpmls0lsmerer LweTLIG S DS

Which one of the following is the expelling gas in ABC type Extinguisher ?

(A) CO, (B) O, (©) N, (D) CO
BLpsaei_aupmier 61bs eain ABC euans Sweneniiulle OlasangserepLb aumyeuns
2 GTenGl ?

(A) CO, B) O, ©) N, (D) CO

What is the approximate “bells down time™ and “turn out time™ in the drill turn out practice ?
(A) 5 seconds and 10 seconds (B) 10 seconds and 15 seconds

(C) 10 seconds and 20 seconds (D) 10 seconds and 30 seconds

Qeueld Qrevaysed LUIHDFUND, wewll allss Geuaiiyw &rew IjeTa) HHILD OlFwin
SmalsenL e Liesflmeriser Geuefl ey Calammiyur $Tew 2676 6TEIMIGTE] ?

(A) 5 Qsmyser wpmib 10 Qpmeser (B) 10 Qpmyser wHmib 15 Cpmgser

(C) 10 @pmygser wpmib 20 Qpmyser (D) 10 Qpmyser wpmib 30 Clpmig.ser

Which gas is responsible for Bhopal Gas Tragedy in 1984 ?

(A) Methanol (B) Methyl iso cyanate o Eg]]

(C) Methyl alcohol (D) Methyl chloride o

1984-1b eu@_tb e Cumuimed eflay UMy FLbLIMISHDEG STITCRTLONGST 6uMLaTlesr
Quwiir erasresr 9

(A) Gluggaesmed (B) QugHev gGar susGer”

(C) GgHlev yevsamred (D) GgHevr @CarmengL’




117.

118.

119.

120.

121.
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What is the maximum period of special disability leave that can be granted on the recommendation
of medical board to a person who has suffered disability while discharging duty ?

(A) 12 months (B) 24 months (C) 36 months (D) 48 months

905 Licssisar Gop Glsmeransuiled alLiSgidE o aTeaTTHGIDaIi5Ehs5E AP SLL_FIors
Lo(BS&I0ud & pales LifbgienrliLig. i) @uerenio aflBHLIL] TSSO LOTSEIS @SS
QULPEISGUTLD 2

(A) 12 wrskiser (B) 24 wngmser  (C) 36 wngmser (D) 48 wighiser

Which one of the following Order No. of fire service manual deals with duties and
responsibilities of fire personnel ?

(A) Order No. 400 (B) Order No. 500 @ﬁg

(C) Order No. 600 (D) Order No. 300 ‘

BLpé&eTL_UDDIGT SWEHHTLIL] FIOD CThHS 4EOERT GTewT LIGRIWLITeTiSeH6 SL_cnLD
ppib Cumpitiv) ups GBLIIGSDS

(A) <y emewnt erevr. 400 (B) <gyemaur erewr. 500

(C) oyement erevor. 600 (D) yememt erei. 300

What is the name of the scheme initiated by National Disaster Management Authority (NDMA)
for training the Community Volunteers in disaster response ?

(A) Sanga Mitra Scheme (B) Aapda Mitra Scheme

(C) Agni Mitra Scheme (D) Desa Mitra Scheme

Guili_ir smev QFWLITL 19 HD&TSH FLPSTL STaITieUai%ens@ LUIDFwelss Cs&w
Guii_ir Guoevrassrents yenennudgned Qsm_misliLLl L G 1 FHer Ot ereie 2

(A) gmis WOggm S L b (B) @8 OSgT S _tb

(C) ygeafl AGoT "1 1b (D) CGs& hgom S’ b

What is the minimum period of temporary relinquishment for Promotion ? 5 E:‘,
(A) 2 years (B) 5 years (C) 3 years (D) 1 year ’

GODESLIL FLD ciHSmaeT YSTHSEhSEG LSall o wiajsster 2 Mawaw ol (s
Csr®&HeTD ?
(A) 2 gyaw@pser (B) 5 gew@sear (C) 3 gyeaw@ser (D) 1 geaw®

Which hitch is used to lift objects with rough surface ?

(A) Rolling hitch (B) Block wall hitch

(C) Waterman hitch (D) Timber hitch

&I® wuLret QUL semard L 1g @) (pds LWGTLIHILD (LpLy&Fd: 618/ ?
(A) Gomellmr el & (B) femns eumed el &

(C) eum’_iGuosir @il & (D) b el &
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123.

&
Statement I : When the leave by an employee applied exceeds 51 days it can be
recommended to the medical board.
Statement II : If an employee frequently avails leave on medical grounds he can be referred
to the nearest available civil surgeon serving in Government.
(A) I only correct (B) II only correct it

(C) Iand I correct (D) I and IT wrong e

wnsGuwibl: @ s s flui wosse aN@LY 51 B sendE Bswrs
THSHBES TV iy HSsIa &Waln@ Lbgier CFdiemLh.

unsGunb Il : @@ s sonflur o9és1y @SS NP0 Qe sjauamy
I GHayerer IusH wHSHauM b uNGsrsmardE uMbgiemr

Qlsunuevmib.

(A) I ol (b &M (B) I o @b &l

(C) I opmyd 1T & D) T wpoid 11 seumy

Statement I : Fire appliances may be sent to respond to fire calls out side the State like
Andhra and Kerala.

Statement IT: All incidental expenditure should be recovered from our State
Government.

(A) 1 only correct (B) 1II only correct EEE

(C) I and II correct (D) I'and II wrong %@

amsGud 1 1 ypGor wHpid Csgern Gunep JyeseL wraBsels @) wmbs)
Qupliu@b § elgg IoPLiILsessE BueaenTiiL saiBsemer
<9/GILILIGVITLD.

ungSwin I1:  ojaupplsster gmeaiggs CFwasamenyb piog wrble rHi_ib
@wig Cupms Clamerar GaiaT(RLb.

(A) T w @b &M (B) II woi” @b &M
(©) T opayeb 11 & (D) 1 wpmyb 11 eumy
124. Which one of the following game is not included in the Fire Service Sports Meet ?
(A) Volleyball (B) Basketball
(C) Athletics events (D) Handball

Esam_aupmled e1hg alleerun GLUCUTL Yy SwenentliLs geon aflaerwm G
Cumiguied CridgsLiuL_aflevensy 2

(A) eosLBg (B) smenL_Lifg

(©) srsar CGumigser (D) ewauwphg Lbs
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125. Which powder is used to extinguish fires in uranium and plutonium ?

126.

127.

128.

(A) TEC powder (B) TALCUM powder

(C) DCP powder (D) BC powder

wGreflwd wppid e CLreflw yRuaipPled TP S Iy eTsHs
LiesTLI(RID LIS LT 615 ?

A) 9.@).9. uay_i (B) _mevsib LeyL i %

(©C) 19..8.49. ueyL_ir D) 9.9, ey

What drills should be carried out in a station everyday excluding Sundays and Public holidays ?
(A) Wet drill

(B) Dry drill

(C) Dry drills and Wet drills

(D) None of the above

@muHmISE penLoser LHmitb 915 NG\wpep B saer ail, Hlaewniseled 6bs
un& BesCsamib HLgsLii Ceuewr(Bb ?

(A) Brciuedn&

(B) pilebevms Luln&

(C) BAlcvevnss LulH® wHmib Brciudn&

(D) @eupnled e1g10)blcbencw

In which type of extinguisher “Discharge horn™ is used ?

(A) DCP type extinguisher (B) Foam type extinguisher

(C) CO, type extinguisher (D) Water type extinguisher
“Discharge horn” 61658 euens BwenewtiiL smaluiled LweTLGSSLILIGF DS ?
(A) DCP cuens GuwenesriiLimet (B) miewy euend S e eurLILITasT

(C) CO, auews SuwenewtLiLime (D) sevsrewin auens SiienETLILITET

Which of the following vehicle is used to combat aircraft fires at Airports ? [ IE:II

(A) Rapid Intervention Vehicle (B) Quick Response Vehicle e

(C) Crash Fire Tender (D) Dry Chemical Powder Tender
Bpses_cupmier aflwner fleavowriseiley, alwramsened gpL® D Sullenar
GTRC&merar Qugieuns LWGTLIGSSLILIBILD 2enil) 618 2

(A) Gmi @en_riQeuciiger 2ari®s  (B) guifls Fmiiy serif)

(C) &gmew Liwir Qe (D) 2.t ey 261G
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130.

131.
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Who scrutinises the general diary received from the Fire Stations ?

(A) Seat Assistant (B) Superintendent

(C) Assistant District Officer (D) District Officer

Buweenriiy flavewriselemig QupliL@ Qurg) pr GBllimer gitsmie
Q&uiLieut wmi 9

(A) @wéemns 2 gawmernr (B) sessrasmewtliLimeri & E;'.
(©) 2.ga9 wrau’ L eyeiei (D) wmreul’ yeyauevi '
Find out the wrong pair.
I) Water sprinklers a) Automatically spray water
IT) Wet riser b) To lift water upwards
IIT) Drenches c) To protect fire fighting pump room
IV) Smoke detectors d) To detect smoke in the early stage
(A) Water sprinklers - Automatically spray water
(B) Wet riser - To lift water upwards
(C) Drenches - To protect fire fighting pump room
(D) Smoke detectors - To detect smoke in the early stage
SUDTET (Q)GNewTeniL! HEoTLBl5%.
) Big0gefliser a) gnens pilevar Cgaild@Lb oemioliy
II) 2 wGp e1apibLd) Qlssvgyp  b) Blewer GaGrrss Csnan® GeFsev
BT @Lpmiiser
IIT) peweriilser ¢) BwenentiiL) LIbL &N Jepen LINGIS TS

IV) yews saw@liyiunesr  d) gmbuBleaaGaCu Lamsiiamer sem_Blse
(A) BrsCsefliniser— gnems Bheear Qzeldeh JyaioLiL)

(B) 2wGr erepibld Clgsbayid B Gpmiiser— Bllaner GoeCrrs® Qsram® Cesev
(C) pevar ifser— SuenentiiLy LibLseller Jyemperw LITSISTEs

(D) yevs sem@ iy iner— gy buflaaulGanGu Lamsilamer HGUITL_ 1% 6V

A person appointed as Station Officer in the dept. must pass which of the following special

tests within two years of the date of appointment ? _

(A) Account Test for Subordinate Officers Part— I and Tamil Nadu Fire Service Manual

(B) Account Test for Subordinate Officers Part — I and Manual of Firemanship -

(C) Account Test for Executive Officers and St. John’s Ambulance Test in First Aid wg&

(D) Account Test for Executive Officers and Manual of Firemanship S

BwevenriL) siepuiled Flenevw yaiaierTs BdESIUL L et Qeueny Bluhlgs

Brefledlwhg @)uswm_mew® sras@b@er Gaidd G Gausgw Csiaser eTeal 2

(A) smiBlevew Iyaieiisepdsie sas@ Csiny LGS —1 s0pBEI® wHpyLh
BwenewntliL] Ziewp FeL (LoD FIGH

(B) gmiglenew syauevisesssrar saés@ Caie) UGH —1 wominb SwenenrliLiment
BaL(LpeD [BT6

(©) Qswed Yyayeueiiseprssrer sewse Csie) whmib Qeuien’ smer Grmumert
euaiTLy & FRISSHGT (LpSwIFall Csiay

(D) Glewed gyayaueisesssrar saws@ Caie BuementiiLiment BL_(LPGOD B




132.

IV) wreil i geeuei LesTolau@ LS & wWpailnE

133.

s

Match the following.

I) Director cash rewards for group a) Rs. 1,500/~
IT) Deputy Director cash reward for group b) Rs. 1,000/-
I1T) Director cash reward for Individual ¢) Rs. 10,000/-
[V) District Officer cash reward for group  d) Rs. 2,000/-

I IO o I

(A) ¢ d b a

B)c d a b o)

©b a ¢ d Pl

M)yd ¢ a b

Qs gI5.

D) Quégpi Leamiblagws &walnG

I) giemewr @ ud@ni LiewGleau@LLS &(LpalDHE

1) Qué@nT Lawr GaigLod) sesfiBLIBS S

I I o Iv
(A) ¢ d b a
B) c d a b
G b a c d
MD)yd ¢ a b
Match the following.
I) Thoothukudy Lakshmi talkies fire accident
IT) Kurangani forest fire accident
IIT) Kumbakonam school fire accident
IV) Thanjavur big temple fire accident

I I I v
(A)d ¢ a b
B)d a b ¢ EHE
©b a d ¢ e
Mb ¢ d a
QumSG1%.

) 8185151y L & Lis8ev 8§ aludg)
1) Grhsell sr’.® § allugs
I1l) GouGsewid Lerefl § aflLidg)
IV) sepanayi Cuilw Csmiler § aflLgg
I

In m Iiv
(A)d ¢ a b
Bd a b ¢
@b a d ¢
Mb ¢ d a

a) em. 1,500/-
b) em. 1,000/-
¢) em. 10,000/-
d) em. 2,000/~

a) 2014
b) 1979
c) 1997
d) 2004

a) 2014
b) 1979
¢) 1997
d) 2004
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134. Which rule of Tamil Nadu Factories Act prescribed the means of escape in case of fire ?
(A) Rule-5 (B) Rule-13 (C) Rule-38 (D) Rule-61
SIPpBI® Csmplvarame s G eips alPuler Ly § alugsgissar Cribsme
SUILIQISDHETET QUL (LPODSHEHET FnmlijeiTeng) ?
(A) a9%-5 (B) a99-13 (C) a95-38 (D) a9%-61
135. Which of the following substance ignite spontaneously in the air ?
(A) Pyrophoric (B) Cryogenic E E:{
(C) Oxidizing (D) Hydrogen
Les1auseuasTaupmieT 618 STOMe) FrewnsGeu i1 Lpmld Cemerenb 2
(A) eouGrrGuimis (B) &engCGungefls
(©) ysedenr_edm (D) ewamr gegeir
136. Match the following.
I) Human Crutch Method a) Rescue a fat person
II) Fireman’s Lift b) Rescue a person injured in one leg
IIT) Bowling “Drag” Method ¢) Rescue an unconscious person
IV) Four Handed Seat Method d) Rescue from a narrow space
I II 1m 1Iv
(Ad ¢ a b
B)ec b d a -
C©b ¢ d a e
MD)yd a b ¢
s gis.
I) aflywer o é a) B s Geauedmgw BLIT A& Senions @) ELh
Gungy
) wwi Gosirev &Sl b) @@ smelled gL L BT LB LISDG
) weyedlm “19.0m8” (pewm ¢) &w Bleveraileny) @ pLiLaeny L5 LIGDHEG
IV) preing ews Qussems wpeop d) Guisevrer LGS uSIBHg B LISDHG
I I I IV
(A)d ¢ a b
B)c b d a
@b ¢ d a
MD)d a b ¢

. ——
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137. How many days of special casual leave can be granted to a government servant who is selected to

138.

139.

participate in an International/National level sports event ?

(A) 30 days per year (B) 40 days per year

(C) 50 days per year (D) 60 days per year

&ieuGss wpmd CsHw yerelevrer aflamenun () Gurlgseiled sebg GClsmerer
Gt 005 HSsLILL L 308 26 fli(héE eILFSSLILIGL PLiL] SH6FL @B LI
STV IGTR] GT6UMGTR[ ?

(A) 6 uGL58DE 30 pr sar (B) 96 uGLSSDG 40 prsdr  mugE
(€) 96 GLEBHG 50 prssr (D) @ MGLIBHE 60 pr-ser  EES

Statement I : Fire Service Martyr’s Day is observed on April 13.

Statement IT: On this day homage is paid to fire fighters who sacrificed their lives in the

line of duty.
(A) I only correct (B) II only correct
(C) T and II correct (D) I and IT wrong

aung@uib 1 : BwewewriGuimt afy auewiss prer erligev-13 60 9eniFMésILGSDS!.

aund&uib II: @pprafled afgwgentid IjeoL_bgsauisE afgaiemssd CFaidsL

U®SDg].
(A) I or”_ @b &l (B) 1I ol @b ol
(O T ommub 11 &l (D) I odmyin 11 seumy

Which card in water tender describes the “Fire bell” ?
(A) W.T. Card No. : 4
(B) W.T. Card No. : 6
(C) W.T. Card No. : 1
(D) W:T. Card No. : 2

B
=3

61h% B.&m6eu. L e etewr “§ wewll” LPH aleulESng (GOIBSDS5) 2
(A) p.smeu. gy enL_ erevr : 4
(B) f.smeu. 9 enL erewr : 6
(C) f.smeu. e 616w : 1
(D) p.smei. 9’ e ereuT: 2




140.

141.

142.
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Statement I : To identify a damaged hose at fire ground Reef Knot shall be made at each

end of the hose.

Statement II: To identify damaged hoses the female coupling should be kept in reverse
condition in a rolled hose.

(A) T only correct (B) II only correct G

(C) Tand II correct (D) Tand I wrong ~ Biiea

aurg@uibl : 8 ausGeir Cung Bial® GLom Qeng iy eHul @ LS
IDLbSMeD IS6HT @)Tevs(h) (Lpenarsafiatd 6T (h) GULQe (LpLFor
QL@ vweaTL®SS (LYW GTTLSHE L wraTlL(BSS
Geuauist()Lb.

amnd&Swib II: uwsedLbs @mewlilisamer gamLwreILlBSS bS5 @)eeRTLILISCT
LpHmILh &6 ewaevenw FPlw sl Clsnes®) &L Cases(BLb.

(A) I o @b &l (B) II o @b &l

(O) I ommud 11 &Ml (D) 1 woppub 1T geumy

Which of the following does not fall under the category of an assembly building ?

(A) Theatres (cinema screen) (B) Hotel

(C) Marriage Hall (D) Bus Terminus

SLpsenT_uDmIeT 615 0IFbLIT auens SLL L BIS6aTTS euensLBSSLILIL_ailevency ?
(A) Bewgwgnigser (B) 2.eway alBH@s6r

(C) B pLoewsr oesere_Lith (D) Cumwpgl (LpawestiLiBiseT

What is the maximum number of unearned leave on medical certificate a Government Servant
is entitled to on completion of 20 years of service ?

(A) 270 days (B) 540 days g F‘}l

(C) 360 days (D) 180 days

R 2ua 26nflwii 20 Yy eEr(Rser Ll Blenpe] 0lauls LG GISSET BT &H6T O[5S0
gneslesr Gulevmer mLm a9BLIL] Sjeniiialdsemtd ?

(A) 270 prser (B) 540 pm_saer

(C) 360 L seir (D) 180 pm seir
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143. Which of the following is not Station Fire Officer’s duty ?

(A) Maintaining the strength in fire station

(B) Allocation of duty in the fire station

(C) Maintaining the cleanliness of station

(D) Maintenance of general diary

Blewevw jaaievisepssiet Lienllseafley @)evarss 618 ?

(A) Blenevwis Liesflunarisefler sresrenfigemseamu GCLigised EEE
(B) wewflwmenisess@ wpwapwns Gaime @515 E&s6 e
(C) Bewevwgensu b, FODILILIDSENSULD STLIGHLDWITES 6USS6
(D) Qungy pr@plliy eup® ugmofdge

144. Which one of the following suit is used for rescue purpose against a very high temperature ?
(A) Chemical suit
(B) Ammonia suit
(C) Aluminised asbestos fabric suit
(D) Spray suit
SLpseiL 6T SOSTLUIL 2.l Ps CleuliusHn G 1% ons LB 16 Liewlufer GLing)
vweTL(hSSLILBGE DS ?
(A) Qslds6 FPSTLIL 2 el
(B) <@ybCuonesfluim smHamiiL) 2 e
(C) aublesfluib gy ev6lueav_mav CuiMs SHSTLIL] 2 enL
(D) avr9Cr cuens smSILIL 2 a1

A ; ) . PR [E]3[E
145. Who is nominated as Public Information Officer at District Level ? &

(A) Station Officer (B) District Officer

(C) Office Superintendent (D) Assistant District Officer

el L geralleh GClLNg SHa6 JHeeuerns Blwioesid QFwnuli@ueurt wri 9
(A) Blewevw jeviaieuit (B) wmerl’t gjeveuevrt

(C) iueuevs F68sss messiiLiLImeTT (D) 2.gall wmeul’ L Iyepieuevit

146. What is the colour of the Emergency Exit sign as per IS 12349 — 1988 ?
(A) Blue (B) Red
(C) Green (D) Yellow

IS 12349 — 1988 eirLig yjeuggsmev GeualGumpitb auy) Gmlufl g6 BlpLb eresier 2
(A) Bovb (B) s
(C) usems (D) io@Epaeir




147. Match the following.

I) Maintenance of station appliances a) Fireman

IT) Inspection places involving fire risk b) Leading Fireman
[IT) Maintenance of general diary c¢) Station Officer
[V) Station Messenger d) Fireman Driver

I I I v

(A) ¢ d a b

(B) b a d c 4G

@Ca b c: Ehd

(D) d c b a

Qurpsgis.

) Blevevw QFwpsmalsemer LgmiofliLict a) BwenewtliGuimt

) 8§ gumuh Hés Q)L sens e CFiiuear b) (peirered SuemantiiGLmt
) Glungy prl@mlienu GLgssyLicurt ) Bleneww Ijeveuewir
IV) Qeui@wmenyrns @)LiLiet d) SwenewriiL) L BB

I I o
(A) ¢ d a b

B)b a d ¢
C)a b c d
D)yd ¢ b a
148. Match the following.
I) Selection grade fireman a) 25 years
IT) Special grade fireman b) 15 years
III) Upgraded leading fireman  c) 10 years
IV) Special station officer d) 20 years
I I o Iv
(A) b a c d
B) ¢ d a b
€)d © a. b
D)yc d b a
(N CEETES

) Gsiayfleney SwenewriiGrimi a) 25 eupL_Lb
) @iy Hleoew BuweneswiGumi  b) 15 eu@grd  EL5E

1
) s 2 widggl ¢) 10 aupip B
(pesrestet] GuienewriGLimt
IV) @iy Blenevw Ieauevit d) 20 eu@L_tb

I T 1 Iv
(A) b a c d
(B) ¢ d a b
Chyd ¢ a b
MDye d b a
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Statement I : An estimated property loss between Rs. 10,000/- and Rs. 50,000/- is classified

as serious fire call.

Statement I : Alife loss ina fire is considered as a serious fire call irrespective of the value

of damage.
(A) I only correct (B) II only correct EEE:]'
(C) Iand II correct (D) Iand Il wrong B

aundgGunb I 1 Gogw@ iy emrimis 10,000/- wpgeb 50,000/- eueny o atar SallLiggidser,
QuBESalusSer’ euamsLILBSSLILIL (HeTarg].

aurs@wib Il : Cagw@ iy et @ieyd o iy apul L red QuwkHS
auGSTS SIS LILIBILD.

(A) I @b &l (B) II woi"_@b &

(©) 1 opmyid 11 il (D) I wpmib 1T seumy

What percentage of fire extinguishers installed in a building should be subjected to hydraulic
pressure test every year ?

(A) 1/3 (B) 1/4 ©) 12 (D) 1/6

R HuesearsSHe Clurmss Ll Gerter SwenenTliLTeasele TdFmar FSalsLb
BwenentliLneseT auBLSENG @@ (peop Silwe upds LMGsFigemer Gleuiu
Geuessr(ptb 2

(A) 173 (B) 1/4 ©) 12 (D) 1/6

What is the fire service Manual Order Number which describes station routine ?
(A) Manual Order Number : 191

(B) Manual Order Number : 192 = Eg

(C) Manual Order Number: 193~ °—

(D) Manual Order Number : 194

SwenantiiL Flenevis TV Benl (LoD LIDY Famith BeOL (LD [BIG) <2)6n6wT GT68sT
GTGHIGHT 2

(A) penL_(wpenm BV g enent eTar: 191

(B) mewL_(penp mred 2 emewt erawr @ 192

(C) penL_penm mrev gy ement eraur: 193

(D) pev_penp mIed g emewt eremwr: 194




152. Statement I : Pure cold water can be used for small fire wounds.

Statement II: Ink, oil can also be used for small fire wounds.
(A) I only correct (B) II only correct
(C) Iand II correct (D) I and II wrong

aursGunb I : Pl Gssmunisend@ FoHSwmet @alips biflarels
LiweTL(h&SeUITLD.
eura&Gunb I1: enio, erawsrlewris GuneipeupepuLd SESMUSHDHE LIWGTLI(RSS6TLD.
(A) T " @b &l (B) 1I toi”_(pib &M
[E]#[E]

(O) T ommyed 11 &ifl (D) T wopmud 1T Seumy Fhad

153. Mutual assistance between civil and defence fire brigades is explained in which order number of
TN. Fire Service Manual ?
(A) Order No. 133 (B) Order No. 233
(C) Order No. 333 (D) Order No. 433 L
Sl pend SwenewiliL] eopEGLD LUNFSTIL] SueentliL] L GG @ent Gus
2 L6t fl&pa) 2 $elSGI L 1D GBISS BuamentliL) SimD Bl (@D B Ibs
Y eewT GTeuTaEs Gy S LILIL” (BTG
(A) gyemewt erevr. 133 (B) <yenewnt erevor. 233 !
(C) wyewewt s1adr. 333 (D) yewenr erair. 433 |

154. What is Triage ? _
(A) Sorting of victims |
(B) Classify fire extinguishers ES5E
= B % d
(C) Classification of fires
(D) Grouping of bloods

19 engGugh TGIDTGY GTGHTES 9
(A) un®lD@ererneT pLISET eUansLILI(bSSIS |
(B) Bwenewriiy) spallsamer auensLiL(hSS0S]
(C) Savw cuewsLiLBS516UG] |
(D) @usssBlen auamsLnpser ]
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156.

157.
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Which one of the following is not a requirement for promotion from Leading Fireman to
Station Officer ?

(A) Minimum 7 years of total service

(B) Minimum 2 years service as Leading Fireman
(C) Heavy Vehicle Driving License

(D) Must have a working knowledge of English

g
[E3:

SLpsaiLcupmier 618 (peravedf] SuementiGui LN GES Blevevwr jgeicvi
ugall 2wiallneE Csameuuilevevns @eim ?

(A) @ewps L Fb T au@bL_Biser Lest LMbSBS560

(B) woshraas) SuwenesliGuingns &eophs LILFLb 2 yrB)s6r Lewfl Libsmssev
(C) segs el Get o Mioth enass HoHS6

(D) r&ewsHe poLpop JPle) B)BSse Careu(lb

Which rescue method is used to rescue a person entrapped in a smoke filled room ?

(A) Fireman lift (B) Human crutch

(C) Crawling method (D) Fore and aft method

Lie® @GP empuiled NEHG Clsnas_ BLITGET 6Th% AL L] (Lpenpuileh LB seomb 2
(A) ooLiwiGroesr &Sl (B) weflg ssreiimCamsd (Lpenm

(C) seu@pLd Lenp (D) o%Cumir gt oLl (pewp

Who is empowered to issue fire occurrence certificate to the insurance companies ?

(A) Deputy Director (B) Director

(C) Station Officer (D) District Officer

sMILTR BnieuetsSnGg Sellidsl BSLPHSSDHTET SN QULPBIGLD QICIGT WTT ?
(A) giowent QuisGHT (B) Quésn

(C) Hlewevws jaauevit (D) wmeut’ L yeveuevit

In Right to Information Act, 2005 and Right to Information Rules, 2012, who is exempted from
payment of fees for providing information ? '
(A) Advocate

(B) Government Employees EEE

(C) Below Poverty Line i

(D) Senior Citizen

s5a16h plutb o Mevioder’ L 1b 2005 opmith s&aieh ypluyd 2 Mento aflGlseir 2012 6br
ULy, GTRIFSE SSAUG QULPEIGMSHE SL L ewid CleayssiauBelBrs allwss
yeflgsriu’ (Hererg 2

(A) aupdspleni

(B) s ojevieueviger

(©) eumyenio Camiyp@ &ip 2 erGemmi

D) epds GLywsser




159. Annual National Level Fire and Evacuation Drills in Schools are conducted throughout the
country on which day ?

(A) April 14 (B) April 20 EYE
(C) January 21 (D) January 20 %ﬁ&

e Cammib CsPuw syeralevnar Larelseled § LopmiLb OeualGupmitb LufHSRaser
BB Lppeugih eTbg prafled fLSsLILIGSDS

(A) erdged 14 (B) ertigeb 20
(C) mareu 21 (D) gareu 20
160. Who should conduct the change of watch in the morning at the fire station ?
(A) Driver Mechanic (B) Leading Fireman
(C) Station Officer (D) Assistant District Officer
BwenewtiiL) Hlevevwmsiseflsy srencvuled &mals Lwrppge»s wrt g5 Ceusst(hb ?
(A) wyemgeui Glods el B) wpsiresrest] SuwenewriGLimit
(©) Bleweww ayeuei (D) 2.gadl e’ L syeyaiei

161. In TNFRS department, how many districts has active Fire Prevention Wing ?
(A) 12 (B) 13 ©) 14 (D) 15
SBIPETH SwenewtiiL) wppih LB Lueser gempuisy sTESmeT LTl I Kiseie
855001 G QS uBHDs °

(A) 12 (B) 13 ©) 14 (D) 15
162. When a hose pipe is suddenly closed, it causes damage to the water pipe. This phenomenon
is called
(A) Water hammer (B) Pressure explosion
(C) Soft suction (D) Jet reaction
RO prsGLomiet auree; Bieblyat epiy ermey Bi Gmi Gagioent_ujib
@BBSLpaTag)
(A) eum_ir Gamibior (B) @ipss Caug iy st
(C) gnii” ssgesr (D) Gleor” Mwndeayesr %‘g@

163. What is the exgratia amount that will be payable to the next kin of the fire personnel who
dies while performing their duties ?

(A) 10 Lakhs (B) 15 Lakhs (C) 20 Lakhs (D) 25 Lakhs
Bwenewriy 1511 uewflufieir Guing) 2 i @Bs LewhwmeTisais GOUSHDG
QUPEISLILGLD 2 56I Csrens eraiaere; o

(A) 10eish  (B) 15 e'sub (C) 20 wwish (D) 25 avi”eib
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164. Which one of the chemical mixture is not a combination of chemicals used in DCP fire
extinguisher ?
(A) Magnesium Carbonate (B) Sodium Bicarbonate
(C) Aluminium Sulphate (D) Magnesium Stearate
6165 BLpseni g1y Cau@LIGLITBET S, 2 QT JFTUGT LOT6Y QUGN SILIGH GusTLILITGT

safled LweTLRSSLILIRuSDme ?

(A) Qusaf@uib smiGesr” (B) Gamgwid e smiGeor”

| (C©) oyayflaflub FevBLi (D) GQuéeaf@uih eviguwCrl

165. “Burn-Back Resistance” is related to 0 E:ll

(A) Quality of water (B) Quality of foam =
(C) Quality of powder (D) Quality of chemicals
“Guiiteir-Gud QrfevL_citav” @eupmiL et CFTLTLjenL_wg)
(A) saweniit $0551L-6 (B) mIevy $0S5IL6bT
(C) weyLit 3581167 D) @usmwent Ho551L_6T

166. Who is responsible for the proper utilisation and accounting of the permanent advance
sanctioned to the station ?
(A) Station Officer (B) Station Writer
(C) Superintendent (D) District Officer

BevawsSin @ @LILefEsLILL L Blenenes (Lp6sT LIS (LpepinsLl LIGTUGHSS)

Fewrdend LIgTLoMas Calenrigwald wmm ?
(A) Bleweww eaievit (B) dlewevws e1(1pdsiT = IE:I|
(C) @evsrssmevt]LiLiment (D) wmeul’ L 9seuet (=
167. Which knot is used for self rescue in smoke engulfed area’s ?

(A) Half Hitch (B) Draw Hitch

(C) Reef Knot (D) Bowline

GBS (LPLYEs Ls GLphS QLS8 setenend snGar srliLimmlé Clsmerer

LweTLBR S DS ?

(A) apmols adll & (B) wpom el &

(C) %L mm” (D) Gumemevesr
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168. What is the maximum cash reward a District Officer can sanction for one incident ?

(A) Rs. 250 (B) Rs. 1,000 (C) Rs. 500 (D) Rs. 800

e’ L. J@yeuei @ Blapaiey ueflyfEssnE DSLLFNS sTaIaeTa] LIGHT
Oleu oS eupmIsILD 2

(A) emmis250  (B) emwmds 1,000 (C) emimir 500 (D) emesmis 800

169. What is the training period for fireman drivers selected for promotion to driver mechanic at

170.

the State workshop ?

(A) Two months (B) Three months RIS
(C) Four months (D) Five months e

QB8 sLbLOWT QL GBIt Liged) 2 witelhe@ GCsieunes SweentiGLINT @L BIbisE5HS
omle Ll L_eapuiled eupmIsIL@LD LD sTe 2jeTe) eTaiaiane) 2

(A) @uawr(®) LonsEiser (B) epsirny ongmisser

(C) preirg wagmiser (D) gobgi wongmigar

Statement I : A person appointed to the post of Station Fire Officer, shall within a period
of 3 years from the date of appointment, pass the account test for subordinate
officers and the test of Tamil Nadu fire service manual.

Statement II : The penalties for failure to pass the above tests shall be withholding of
promotion and stoppage of increment until test is passed.

(A) T only correct (B) II only correct EEE

(C) Tand II correct (D) Tand IT wrong e

ung&uubl :  Bevevw aeuegns Hlunfésiul et serg Buiet sreleSsbg)
CLPGITD TG (5 & @h (S5 6 FITTEleney QVIaIGVITS G TeT Sewtd&d Csitay
LpmIh SOPHEIH SweeRTLIL FIwp FOL (LD BIX S W
Gsis& Clup Geauear(Bib.

aunsGuib Il : GG smplu Csiaysailds Csms SaIneISHSTeT 568TL BI&6T
2$Csialled Camib aueny (Lgadl) 2 wienas Bniss eeusseilb FLbLGT
2 wiie] FDISSUpLD &Lb.

(A) T ol @b &M (B) II tor” ®1b &M

(C) I opmyed 11 &1l (D) T wopmid 11 saumy
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JOINT RECRUITMENT - 2023

SO- FIRE DEPARTMENT

WRITTEN EXAMINATION — FINAL ANSWER KEY

QUESTION BOOKLET SERIES

Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
1 A/B/C C B D
2 D A C ©
3 D B D D
4 C B C D
5 B B B C
6 B B A B
7 C A A B
8 D A B €
9 B B D C
10 C D G A
11 A C D B
12 A A B B
13 B A A B
14 D D B B
15 C A/B/C C A
16 D C D A
17 B D C D
18 A B A A/B/C
19 B C B D

20 C D B B
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Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
46 A B A A
47 A B B B
48 B A B A
49 B A B A
50 B B D C/D
51 D D B D
52 A B B A/B/C/D
53 B D B C
54 B B C C
55 B D D D
56 D A/B/C/D B A
57 | A/B/C/D | A/B/C/D D A/D
58 C C B D
59 C D D D
60 D B A/B/C/D A
61 A D A/B/C/D B
62 A/D A C B
63 D A D B
64 A D B A
65 C C D D
66 C D A C
67 B C A A
68 B A C D
69 B C C B
70 C B D C




Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
71 D D C A
72 B A A D
73 D B C B
74 B B B C
75 D B D A
76 | A/B/C/D D A C
77 | A/B/C/D | A/B/C/D B C
78 C C B B
79 D C B B
80 B D D B
81 D A A/B/C/D C
82 A A/D C D
83 D D C B
84 A B D D
85 C B A B
86 D B A/D D
87 C C D A/B/C/D
88 A A D A/B/C/D
89 C C A C
90 B C C D
91 A C C C
92 A A B A
93 D B D B
94 A A B C
95 B A/B/C D C




Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
96 D C A B
97 D D B B
98 B C B/D A/B/C/D
99 C C D B
100 A C A C
101 C B D B
102 B A D C
103 D B A C
104 B C D C
105 D B A C
106 A A B D
107 B D C D
108 B/D B C A
109 D B C D
110 A B C A
111 C A C B
112 A B A B
113 B C B D
114 C A/B/C/D A C
115 C A A/B/C D
116 B C B C
117 B A A D
118 | A/B/C/D B B D
119 B D C B
120 C B B A




0
: o
Xlm|<|m|o|la|<|a|mmm|o|<|pn|<|gjojAlo|o|o|<|< A<M
~
M <
0
Zlo|<|mlojojo|alo|ojojm|a|X|@jo|<|a)jminin) <) @) O 5 <
P 2 =
O < <
9P
=
Zlnlm|la|lo|lalo|a|a|m|<|a|a|<|laj<|m|O|0 0|00 <M OO
n
m
% A
~
mDDADABCCCCABCNACABDBBBDCD
o m
| ~
< <
nm.lnAoo.n_n_.OAu_,/oonﬂo.l_nAGO.A—._.OAuﬁ/OOnvﬁu.l.nAoJ../._n_.O
N2222222223333333333444444
Qlllllllllllllllllll111111




% A
Y A @)
EDDBCACBDBDABWDAABCWACBABD
Q_u ~
A <
0
&
Zlnlmla|ojalo|l<|n|ajoj<|<|jal<|imn|ajamo|<iOiA)A)M) <
N
@)
% o)
T~
s O N
EBBWBCAADABDDBCACBDBDABWDA
2 =
M <
0
a4 0
~
mCDDBACABABCDCCCBABCBADBBB
~
Q_u <
<
Slolmlolalolw|lalolts|w|lo|lr|lo|lalo|=|(a|aRQ 51832
N.4444555555555566666666667
Q1111111111111111111111111




